® ALLEN® ChemicalBonding
CHEMICAL BONDING 7. D o frErd @ e Am
1. FrefaRed 3 @ o9 9 GHEE S g 2?2 Fﬁ?ﬁ\_ﬂﬁ § T Siftdc qﬁf%\r?
(1) He, (2) He,
A. SO derr CrOo2” (3) Be, 4) 0,
B. SiCl, @21 TiCl, 8. B,H,® fog /1 § & @19 A1 W& A 77
C. NH; T NO; ()saa RN a1l B-H el § Ag 3fmadl
D. BCl; T91 BrCls B 3T p-HALTIT HH Bl B |
(1) C T D 14 (2) A 91 B A3 (2) Q1A B-H-B %] W o s & 8 § |
(3) A T C AT (4) B qem C | (3)f B-H-B BT 120° 3 ¥ |
2. UIEH] B a-gfera Re @ ¥y & fog (43 e, BH, T 59 &R B WE
frfoRaa & 9 59 gBR @1 e=a=y fohan
FIER BT 8 |
SRR &7 0. Prefifem fored 4 ¥ s wem W
(1) Smafe SrarT STesIEed B fory sifha § !
(2) BTSSIS I (A)BF;  (B)SiCl, (C)PCl; (D) SF,
(3) TSI AT 10. Frefafeg wieisr § & @9 @ § omdy
(4) aTSdTey def SIS INIAM & ?
3. frfaRaa § 9 SyaeEl 3ifel @ G 8 (1) B, (2) XeF, (3) SF, (4) SiF,
11. BeoHl & 3mew IS T &1 |8l HH
(A) BeO s
(B) BaO (1)Cl,>F,>Br, > 1,
(©) Be(OH), 2)1,>Br,>Cl, > F,
(D) Sr(OH), (3)ClL, >Br,>F,>1,
4. ;' MA@ HE AMHA TAl [-1 DIV HHAT: & (4)F,>Cl,>Br, > 1,
(1) fawa Frerofa Fade; 135° g 90° 12. 9 T $g9 foau U B AP A IR
(2) T-SIY a1raBfa; 180° @2 90° PR R.
3) Frprof weaeia; 120° AfweE A : Iy fega—fega fhad &€
. (@) Y. 180° ®ad J JF—AsdArell JA fHIR & Ria
;; 5. fr=faRaa & @ 9@ v Rrad <91 s qum;?m afﬂﬁj%ﬁm%\l
2 TP EF&) ﬂ@f Y f[ % T % . BRI R : q?\l&ll‘{l"l HdllE D Tdgfd—RUTTHD
H (1) LiF > LiCl : MgO > NaCl a8 SR HE H gTggior sme FAffera 2 |
(2) LiCl > LiF ; NaCl > MgO SRIFd Ul & Hed ¥ e Ay T e
3 (3) LiF > LiCl ; NaCl > MgO 4 ¥ 98 SR g |
*‘ (4) LiCl > LiF ; MgO > NaCl (1) A 39T & g R I
§ 6. ffoRad Tomr & IREY § A (A) a0 T (2) A AT R A1 9 8 3R R & AR &
i ()R AR
% (C) S,-FU VI JREUT & F& JArsy I (3) A T & IR=g R AT &
SgrPE T 2 . (4) A TAT R SHl 9T ¥ WReg R T @R
;:; T T ADI

L
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13.

14.

15.

ALLEN® .
H a1 wee g g 7 16. GA-IH GA-U A B B |
FF 1 : o-ASSIBHA w9 #  arweiid a1 I
IT:3MOad BISSIoT MM B BN B | . .
(aiferaT 3Fet T ATH) (P &1 SffRATHRoT
COEE | | BISQIoE  QMEeH & BRI araeen)
ATSSIHIAIA BT TA-Th 3 © | .
;:rﬁaa woril B R s (a) TIRUIBIRGIRE 37 (i) +5
S [Ep— S (b) SATBREpIRG 31 (ii) +4
(1) BU 1 39T & IR b 119 ® © @ i [ ot (?ﬁ) +3
(2) ST Hord [ HoF 119 2 (@ SffeAPIEpRE et (iv) +2
(3) ST BT 1 TAT B 11 3 ¥ | N () +1
g Ay fadeni # | 98 SR B
(4) P19 8 g U 11 3797 2 | . .
(1) (@)-(v), (b)-(1), (c)-(ii), (d)-(ii1)
A S @ert Y G B O e A SR @) (@)-(1v), (b)), (@), (-G
A BRI RE| (3) (@)~(iv), (b)-(v), (¢)-(ii), (d)-(iii)
AMFF A : CsL, & TS T/, 4, o1 @) (@)~(v), (b)-(iv), (c)-(ii), (d)-(iii)
+1 SMRINBROT raRen § IuRerd B | 17. SIS < oI A TRl PRVIR AT £ |
SRUR : T/ 97 & Soiagi= fa=r & dige f BT A : 5T H H-O-H % DI 104.50F |
gIFST BId B HRUT R : 3 JH-AEE J7H YRIHY0T Bl
Sad perl B wied § A9 R T R 3JUETT, ThIdbl JTH—TbD! 7H UfdHyu Ioa
_ N N BIaT 2 |
H ¥ Haifge SfEa IR glw_: S Ry fwedl ¥ @ S 3 P @@
(1) ASE 8 W=y RE LT 2 | SR &
(2) S A TaT R ¥& & AR R, A & F& (I)AW%WRW%I
T | (2) A TR T W& € UR=g R el R
(3) A9E T8 & kg RIS © T8 T A DI
(4) S A T R¥El & W R, A &1 & (3) A9 g TR RIAH B |
AR &I ¢ | (4) A 9T R SFI 9 & R R T8 =1 ©
A1 B GA-IL D WU G BIIY Al
JA-I 1T 18. Cg, @ AT & oIy Tetd H9F ©
(319)) (3T~ HH) (1) ©: dI1 9fd a9, 9 B
(a) Ne, G 1 AR gora Gferd B © |
b)) N Gi) 2 (2) UH HTE <19 R e g7 © |
F2 T (3) g ISR Il ® GIAH dad B
© B (i1 Tl qerdl & @l B B |
@ 0, iv) 3 @) T 12-50 Aellg geg @l 24 ud

A ey T feedl W | |E IR g
(1) (@—>(iii), (B)—>(iv), (©)—>(), (d)—>(ii)
(2) (@—(), (b)—(ib), () (iii), (D)—>(iv)
3) (@—>(iD), (b)), (©)—(iv), (d)—(iii)
@) (@—(iv), (b)—>(iid), () (i), (d)—>()

TR 9T B B |
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19. Th dqY B DY URANY W & Thidl | 27. FA-I D GA-IIE Fernsy —

AT g B T T8 A Tl AT FT] Sy -1
(wdtefion (APRA PeTep)
2l 317 Bl AHA T (a) SF, ()  sp°d
(1) Ih ) B e (b) IF; (ii) ~ d’sp’
(3) T-amaf @) B R (©) NO; (i) sp’d
20, HF w1 FEfRed Afe gew R @ wu ¥ (d) NH; V) sp’
- (V) sp
,
PRI TE IR FHT B g G
()NF;  (2PCly  (3)SE,  (4)CIF,

21, f=faRea § o Rew Tl 2ag 7 (D) (@)-(1), (b)-(ii), (¢)-(v) and (d)-(iii)
(1) NO, 2) CLO (2) (a)-(i1), (b)-(1), (c)-(iv) and (d)-(v)

3) O, @) N3 (3) (a)-(ii1), (b)-( 1), (¢)-(v) and (d)-(iv)

22, AX U® WEHAST fGURATS 9 & el A dofl (4) (@)-@v), (b)-(ii), (¢)-(i1) and (d)-(v)
X amad 9roll @ Rdw dfed @ o § | 28 H3C—?=CH—CEC—HﬁW3WH%
afdas fdea e @ oMaR W AX @ H
erng.s%%mxﬁwgﬁa;ﬁaﬁzﬁﬂ - .
el | 29. fy=faRea § & 49 o9 &1 98 H9 B
(Frevea™ qurie #) . .

23, G & W WRiS § 9 SHel 9 e (1) 6, >0,>0,>0,
DI AT R & UHP! sade= JH g, (2) 0;>0,>0 >0,
Bl (3) 0;>0,>0, >0
(Frped guie ) 4) 0,>0,>0> >0}
SF,, BF,-, CIF;, AsF;, PCls, BrFs, XeF,, SFq . _

24, WEH B TP DG A iR weees g | 30 AR F e e qasd e @
XeO,F, aal & difis A § SuRYd Ydra! 73 8 3R fd eAIfee wui @ g
SAagHl & W Bl G B Taife -

25, I @ d=d | URAY WR Yhd soldeid I (1) SOs 2)0,

DI G | (3) SO, 4) co;
26. NO,,NO! T1 NH. &I 1sgioH & w=AMay | 31.  HyP,0;, HyP,0s @ HP,06 H P 1 SffeRiTenvol
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PEDI BT B HYI: B:

(2) sp, sp’ T sp’
(4) sp’, sp AT sp’

(1) sp’, sp” A< sp
(3) sp’, sp T sp’

R B B, :
(1)7,54d6 (2) 5,43

(3)5,37a14 (4)6,43TA15
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32.

33.

34.

35.

36.

37.

gl dUA QU T | U A TUT BRUT R.

HUF A : ARA TAS HB Feddiol bl
® B 8|

HROIR : NI B gAaxvT ear = Bt 2 |

ISR A1 & forv, 9 v faweai 5 9
waifde Sfea IR g -

() A9 & R R3IAA ©
(2) A3 8 W] RAA T |

(3) A T RS 9 ® IR R, A & F&
AR &I B |

(4) A T RS 9 ® IR R, A & I8
IR B |
I geefoe vHE § "-C-N-C-" 3Ta

BT &l 2

CO dom NO® &1 are=y &ife § 3R %%

@, x 2 | (Mrpeaq quis #)

FARY ¥, FAND 3] AAT WRFARD e
H Cl=O el & F=1 PA: B,

(1) 3, 13 1 (2) 4, 1 1 0
B3)1,17m3
OF & A 3faw 3MfVach DHerhl H goldgil

D F GET ... 2| (Freead qufs )

4) 1,223

AB; T& T-3TTdf &1 fcRI—gallo A9 2| A

W godgd d UHTHl W B H&

(Frpea™ qourias #)

38.

39.

40.

41.

®
ALLEN P

T BN b 9 H g gl Pl AT ol
r® FAEURN 8, W&l & dU b 9 B g
rg| X®H AN —

(H3 (2)-3
(3)-6 4) 6
PCls & ST 399ed & Holkawy Hia faH

I A e FF—AF1g BIgSIo URAT]
SURerd g 8?

1o 22
31 3

0, JTT Bl @Y DIfC Ud DY FdER

%, <hHTI:

(1) 1.5 g g

(2) 1.5 U ufcregarg

(3) 279 uRigeH

(4) 1 79 JFF=DHIT

I Q1 pud QU B TS 1 AW SifAwed
(A) T G H BRUT (R) B |

P (A) : IRIT FEfve Sa § faay ©

T 3B Y B |

BRUI (R) : BEFET &1 I QAR g9+

P ATHR g+ R dadl 2 |

1 gepedl H 9 waifde Suge SR g —

() &F1 (A) Td (R) &1 & WG (A) o1 el
I (R) 2 |

(2) (A) |8 8 g (R) 91 7T&1 B |

(3) &l (A) Td (R) W&l & WG (A) &1 el
T (R) 7TET B |

4) (A) 9! 981 € W (R) eI 2 |
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. ALLEN®

2. A1 FR-II ¥ Fam B |
-1 AT
(Fiefien) (F=R WEY W)

SGEHl P YTl
g B @)
(a) XeF, 1 0
(b) XeO,F, (i) 1
(c) XeOsF, (iii) 2
(d) XeF, (iv) 3
I fay foeedl § 9 w& S g |
(1) @—(iv), (b)—(1), (c)—(ii), (d)—(iii)
(2) (@)—(iii), (b)—(iv), (c)—(ii), (d)—()
(3) (a)—(iii), (b)—(ii), (c)—(v), (d)—()
4) (@—(iv), (b)—(ii), (c)-(i), (d)—(iii)

43. fr=foaRea el § & f59 s H TaEs ¥
IR B TP goldeld g B Ydelad U
SREER S IES I
(1) BCL (2) BF;

(3) BBry (4) Bl;

44. f=fafaa § 9 IRAS amafa &
P A= B |
(A) SO; (B) NO;

(C) PCl, (D) COT
45. CuSO,5H,0 EEfGaHdl d d9g gggioH

node06\BOBA-BB\Kota\JEE MAIN\Jee Main-2021_Subject Topic PDF With Solution\Chemistry\Hindi\Chemical Bonding

JERT ST B AV/IARIT B EE ©

46.

47.

48.

49.

AMRATEEl X,0 (X = gallo) &1 Wi &
el By, f=faled & 9 o9-31 Te 98
¥y 9 frefid wear 87

(H)Br>Cl>1
2)Br>1>Cl
3)Cl>1>Br
4)1>Cl>Br

g srfdce NG & AR O, AT 4
3rgfad SetagMl @ W@ B I
fau M = oSffepdrssl § 9 AgEDN

SIS B T © -

Li,O, CaO, Na,0,, KO,, MgO Td K,0
(D1
B WIS &1 ‘®ad ahvl’ wdd g0 §

22 3)3 @0

x107 BM | (Fraveas quife #)
(feam & : V3=1.73]
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Sol.

(A)

(B)

©

D)

Sol.

Sol.

Sol.

ALLEN®

SOLUTION

Official Ans. by NTA (2)

Isostructural means same structure

I : Tetrahedral
ok 3 : Tetrahedra
0”\No
(0]
Cro; C”r : Tetrahedral
o”\>No
(0)
Cl
SiCl, Sli : Tetrahedral
N
1”7\ Cl
¢ Cl
Cl
TiCl | : Tetrahedral
EEPEIN
crm \ _Cl
Cl
NH. (N) : Triagonal pyramidal
H H
H
0
NO, 2N : Triagonal planar
(0] (0)
Cl\ .
BCl, /B—Cl : Triagonal planar
Cl
(Ifl
BrCl, Cl—]?rg : T-shape
ar

Official Ans. by NTA (2)
Hydrogen bonding is responsible for the

stacking of a-helix structure of protein.

Official Ans. by NTA (2)

Both compounds BeO and Be(OH), are
amphoteric in nature.

and both compounds BaO and Sr(OH), are

basic in nature.

Official Ans. by NTA (4)

Shape : Linear, I-I-I Bond angle = 180°

Sol.

Sol.

Sol.

Sol.

Sol.

10.

Sol.

11.

Sol.

Official Ans. by NTA (1)
L.E. c M.P.

L.E. : LiF > LiCl, MgO > NaCl

Official Ans. by NTA (1)
o-sulphur and B-sulphur are diamagnetic.

S,-form is paramagnetic.

Official Ans. by NTA (3)

Chemical Species | Bond Order
He; 0.5
He; 0.5
Be, 0
0

According to M.O.T. If bond order of chemical
species is zero then that chemical species does

not exist.
Official Ans. by NTA (1)
~H.

Ha <>
i =90
0,{ B0, (=B

.
.
e

0, >0, ..
character as compare to bridge bond.

Both B-H-B bridge bond having same bond
length.

B-H-B bond angle is #90°

BH, is e deficient species and therefore act as

B-H (terminal) having less p-

lewis acid
Official Ans. by NTA (1)
SF; is inert towards hydrolysis

-, answere is (1)
Official Ans. by NTA (3)

Species | Hybridisation Bond length
BE | sp’(Tetrahedral) | All bond lengths equal
XeF, |sp’d’(sq. planar) | All bond lengths equal
s axial bond length >
SF, sp d(see —saw) L
equitorial bond length
SiF, sp’(Tetrahedral) | all bond lengths equal

Official Ans. by NTA (3)

Correct order of bond dissociation enthalpy of
halogens is Cl, > Br, > F, > L.

Due to inter electronic repulsions F-F bond
becomes weak and easily broken.
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ALLEN®

Chemical Bonding

12.

Sol.

13.

Sol.

14.

Sol.

15.

Sol.

Official Ans. by NTA (1)

Assertion is incorrect since in hydrogen
bonding, Dipole—dipole interactions are non-
covalent but ion-dipole interaction can also
result in H-bond formation. Reason is correct
since F is most electronegative element &
structure is

F‘.... /F....
e H g H\F__,,..H

Symmetrical H-bonds are present
Official Ans. by NTA (4)

(0]

o

thus it is more volatile due to intramolecular
H-bonding.

Melting point depends on packing efficiency
not on H-bonding thus statement II is false

Official Ans. by NTA (4)
T/, = (T &17)

//Z—>O

Intramolecular

0 H-bonding

Csl, = (Cs® &)

[Both have same crystalline structure is called
isomorphous]
TrS, = [Xesy]4f4, 5d10, 652

“(81)
(It is correct due to present 14 f electrons in
T/9 ion)

Official Ans by NTA (1)
(a) Ne, = Total e = 20

10-10

B.O.= 0

(b) N, = Total e® = 14
10-4

BO.=——=3
2
(c) F,=Total ¢ = 18
Bo.-10=%_,
2
(d) O, =Total e = 16
B0o.-10=6_,
2

16.

Sol.

17.

Sol.

18.

Sol.

Official Ans. by NTA (1)

(a) Hypophosphorus acid : H,PO,
+1D)3+x+(-2)2=0
x=+1

(b) Orthophosphoric acid : H,PO,
+1D)3+x+(-2)4=0
x=45

(¢) Hypophosphoric acid : H,P,O,
+1D4+2x+(-2)6=0
x=+4

(d) Orthophosphorous acid : H,PO,
+D3+x+(-2)3=0
X=43

Official Ans. by NTA (4)

H,O

9

ZANN
H

0 =104.5°
the hybridisation of oxygen is water molecule
is sp3.
So electron geometry of water molecule is
tetrahedral and the bond angle should be
109°28" but as we know that lone pair-lone pair
repulsion of electrons is higher than the bond
pair-bond pair repulsion because lone pair is
occupied more space around central atom than
that of bond pair.
Official Ans. by NTA (4)

Structure of Ceo

It contain 20 hexagons and 12 pentagons

@ so option 4 is incorrect.
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19.

Sol.

20.

Sol.

21.

Sol.

22,

Sol.

ALLEN®
Official Ans. by NTA (3) 23. Official Ans. by NTA (2)
X F
| SF, = @é(F BES=  if
4 s 4
Qi « | “F F7| >F
& F F
X F
sp°d hybridised Sol. CIF, - @él—F ASF, = /ﬁs\
] ] ’ F7 | °F
T-shaped
F F
Official Ans. by NTA (2)
Lewis base : Chemical species which has |C1 C F 1|: F
capability to donate electron PCl; = CI—P< , BrF, = >Br<
: | °C F~< ~F
pair. Cl
In NF;, SF,, CIF; central atom (i.e. N, S, CI) F
having lone pair therefore act as lewis base. Fe® F F< | _F
XeF, = “Xel , SFg = S{_
, F~€ °F F7 | °F
In PCly central atom (P) does not have lone pair F
therefore does not act as lewis base. Two Lp. on central atom is = CIF;, XeF,
Official Ans. by NTA (4) 24.  Official Ans. by NTA (19)
9 OO §; Sol. XeF, +2H,0—> XeO,F, + 4HF
N O 0 s
o? Yo c1” N1 o” o KI:TJ\FI:N (A) (lelte'd 'water)
Bent shape  Bent shape  Bent shape  Linear Stmcture Of A
Official Ans. by NTA (15)
AX is a covalent diatomic molecule. @ F\ | ﬁ
The molecule is NO. / |
Total no. of electrons is 15. @ @F@ @
Total L.p. on (A) =19
25. Official Ans. by NTA (3)
Sol. 137
I
-l
|<D
I

The number of lone pairs of electron on the
central atom is 3.
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26. Official Ans. by NTA (4) 31. Official Ans. by NTA (3)
Sol. /"\ 26+ 11p Sol. Oxidati(?n state of P in 'H4P207, H,P,0Os and
(0] O oosp H4P,0g is 5, 3 & 4 respectively
® 26 +0]1p HaP20;
O0=N=0 sp 2x+4 (+1)+7(-2)=0
H X=+5
o T+\H 40 :pg) M, 505
H 2x +4(+1)+5(-2)=0
27. Official Ans. by NTA (3) X=+3
Sol. (a) SF, — sp’d hybridisation H,P,0q
0 i
(d) NH; — sp’ hybridisation x=+d
28.  Official Ans. by NTA (10) 32. Official Ans. by NTA (4)
Sol. Lithium due to small size has very high
Sol. I|JIG . polarization capability and thus increases
HeCeC2C2C=C2H covalent nature in Halides.
HG HG HG 33. Official Ans. by NTA (108)
numbers of ¢ bonds = 10 Sol. In gaseous triethyl amine the "-C-N-C-" bond
29.  Official Ans. by NTA (3) angle is 108 degree.
Sol. O, (16 electrons) 34. Official Ans. by NTA (0)
0125 , G’I*SZ, Gis, GZ , Gipz Sol. Bond order of CO =3
5 s o . Bond order of NO* =3
Top, =Tp,» Mop, = Ty 5 Oy, .
Bond order of O, = 2 Difference = 0 = 5
Bond order of O, =1.5 =0
Bond order of O =1 35. Official Ans. by NTA (4)
Bond order of O; =2.5 Sol. Number of Cl = O bonds
30.  Official Ans. by NTA (4) o e, HOO,
Sol. Among SOs;, O,, SO, and CO?, only O, and g(lfll\o/H O¢(|3|1\O/H O¢(:3:1\O/H
CO?" has only one 7-bond Che e e Chloracid Perchloric acid
?* ? 36. Official Ans. by NTA (10) ’
Sol. M. O. Configuration of O3 ((18¢)
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ols? 61s’62s> c*52s202p§7t2p§ = n2p§

%2pi = J*eri
Total B.M.O electrons = 10




Chemical Bonding

37.

Sol.

38.

Sol.

39.

Sol.

40.

Sol.

41.

Sol.

ALLEN®

Official Ans. by NTA (2)

T-shaped molecule means 3 sigma bond and 2

lone pairs of electron on central atom.

Official Ans. by NTA (3)

For london dispersion forces.

Eox —
i

Hence x = -6

Official Ans. by NTA (1)

PCls + H,O — POCl; + 2HCI
H;PO, + 3HCI

I
o/ \\O
H/

I
In P + HCl
O/
H” H
all hydrogens are ionisable

.. Ans is zero.
Official Ans. by NTA (1)

0; =(6,,)(6,,)*(0,)°(65,) (55, )’

2 _ 2 ¥ ¥l
(TEZPX - n2py ) (anx - TEZP, )

Bond order = mT_7= 1.5

and paramagnetic
Official Ans. by NTA (1)

In ITA group on moving down the group size of
cation increases and show thermal stability of

carbonate increases.

42.

Sol.

43.

Sol.

(2pn—2pn) (2pn-3pm)

44.

Sol.

4

Official Ans. by NTA (4)

Species (Number of lone pairs of electrons on
the central atom)

Q|

XeF, 3 Xe <)
I
& !
O |
XeO,F, 1 SXe <P
o? |
F
I
0)
XCO3F2 0 §XC =0
o7 |
F
F @ F
XeF, 2 Ny
s @\F
Official Ans. by NTA (2)
Type of back bonding
BF; BCl1 BBr; BI;

(2pn—4pn) (2pn—-5pm)
Therefore back bonding strength is as follows
BF; > BCl > BBr; > BL

Official Ans. by NTA (3)

0 0]
&
S

O& %O ° J \O*

Trigonal planar Trigonal planar

O |

C
~ N\
Cl/ il Cl o | o
Pyramidal Trigonal

Hence non-pyramidal species are SOs;, NO5

and CO? .

: node06\BOBA-BB\Kota \JEE MAIN\Jee Main-2021_Subject Topic PDF With Solution\Chemistry\Hindi\Chemical Bonding



®
® ALLEN

node06\BOBA-BB\Kota\JEE MAIN\Jee Main-2021_Subject Topic PDF With Solution\Chemistry\Hindi\Chemical Bonding

Chemical Bonding

45. Official Ans. by NTA (1)
H H

Sol. / \ TN g 0
H—O\ /OTLH . \/H \S/
\O‘
/,Cu2+ {\ ,,’>I\ / \O
H—O \O:(H/ S H---O
H \H o

One hydrogen bonded H,O molecule

46. Official Ans. by NTA (4)
Sol. Stability of oxides of Halogens is
I>Cl>Br

47. Official Ans. by NTA (0)

Sol. Molecular orbital configuration of 03 is
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Zero unpaired electron

48. Official Ans. by NTA (1)

Sol. Li,0 = 2Li* O
Ca0 = Ca* OF
Na,0O, = 2Na" 02"

MgO = Mg** O
K,O =2K* O*

KO, = K* O;

O, = Complete octet, diamagnetic
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(para)
49. Official Ans. by NTA (173)
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n=+11+2) =+/3 BM
=1.73 BM

=1.73x 10° BM




